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Lambda coefficient and mixture characteristics

Defect Rich <1
Equilibrium Stoichiometric =1
Excess Poor >

The enine is flooded cind the mixture does noft light so Trgengiﬁ stops working

<0,75

0,75+ 0,85 | Mixture too rich for instantaneous use, provide power increase

0,85+ 0,95 | Maximum power at continuous rate (slope, passing, etc.)

0,95+ 1,05 | Normal driving (Cruise rate)

1,05+ 1,16 | Minimum consumption with slight loss of power

1,15+ 1,30 | Considerable loss of power with an increase in consumption bu’r lower output
> 1,30 The engine does not work, the flame is not being propagated




